
�������	
���
���
�����
��
����
��	
�
�	�	����
��
�����

���������	
����	�	
����

����
���
 �
!	
"��
�#������

�
���������
��
��
�����	���
���
��
�

��

$

�%�

�&%�&�'%�&%

��

%&()*%&�

��&%�

+%

*��,

%�

-,.+*/&.�


�	�
�
����
�	�	
�	���
�����	�	
�	���������

(#0���	
�
+�1���2����
��� �!	
�"��#���#�	�$�%�	�&�&
%�
,�1	�
���34
5��
!��	2	4

�	���	��4
/!����
%&
����"633763�

.��

������

�	����

�������

5������
	
����
/�����1��
6
/���0�
8 5������
	
����
/�����1��9
5������
	
6
/���0�
�
	
�: 5������
	
����
/�����1��
6
/���0�
8

-��&.�%

:;7
/ �%�,.
�33<

�������

��������
���������
��	'	�������
����&
26���	����
�
�
����
0	�	=���
�4
�����������1
	
����1
��
��������()	0������
��
	
��1
���0�1
>��#�
�1
��
��1
	�
�!���1
���0?��
�1
	
�
��
�1
�
5����
	�2���1
���
0�������4
��10�
��
	#�����
-��
��	�	�1�
��
��
0����
��
����#����
��@�
�4
1�
��2�
����	�
1�
����1����4
��!	�	
���4

���	
��

��
��1
�A�1
�
0���4
	1�

�#�
�	

���	#��	
���
��
	��	1�
+��	���
�	
0��0	�	
���
�1	�
��	���1
�#0��#�	2��14
2��	1
��
��#	4
���	��	�
�#0��#�	2��4
0����
���
=	
�	��
+��	���
�	1
	0��
	
����1
�1	�
��	���1
�#0��#�	2��14
2��	1
��
��#	4
���	��	�
�#0��#�	2��
�
0����
���
=	
�	��
��
	0��
	�

��
������
�
��
��	2	A	�
��
�	
���2�	
��
�	
1���
���
	10��A	�	�
��

�#��4
2�2��
�
=�#	�
���	���
�	
	0��
	
���
�
���	���
�	
#	��0��	
����
+�10�?1
��
�	
	0��
	
���
�	�	�

��
	2���	���
	��	
�
A	2��
�	1
0	���1
���

���0�
�
��0	
>��
0���	�
!	2��
������

���	
��

��
��
0����
���
��

���	#��	�
=�����1
��
	��	
	�
�	�	�
��1
�>��0�1
��
	0��
	
���
�B�
	�
���#��	�
��1
��1�
!�1
���
0����
���
/��1����
��
0����
��
��
1�
���	1�
������	�4
2���

���	��4
2	A�
��	��
��
��
���	�
=��1
�
�
1�
�

��
��#0��	���	1
>��
��
�@
��	�
��1
78�/�
��1
���	1�1
�	
��1
0��=��	��14
1�
�1
�
��#0��14
���#��	���1
��A�1
��
��
0����
��
	��	4
��
��
���	�
��1���	��
0��
�	
	������	�

�#0�������
�*
�����	��	�
��������+
�	��1
0��#���1
1����#	1
��
����@�
	
���
0�����
1���
�C�1�	14
��#���
�
��	���	�
-����

	�1	�
�����	
���
�
��	�
��#0��	�4
�����	
���
���#	�4

�	��1�14
��2����	�4
	
���1�1
�
�����	
���
	�
��	
��
�	1�������1���	��
��������	����
����		��	#! �	��	��$!%!#�,��
&�	1�	�	�
	
�	
0��1��	

���	#��	�	
	�
	���
=��1
��
��
��
��10��	4
1�#���1��	���
 ��10��	
���
 	���=�
�	�
 D0��=������#����
2�
	
	
2�
	E
 �
 ��	��#	
����
 ��	#�
	
��
#?��
��
��	#! �	��	��-� ��,��	%�A�	�	�
�	
2�
	
�
��
	
2�2��
:
	
�
�	�	1
����	1
��
	��	
1�
�	
0��1��	
�1�C

��1
������
��
����
��
��
��#���
��
	�#���1��	�
�	�	
0��
��	
��	�
	
��	
0��1��	
��
��1
������
��	#�
��#���	�	#����
	
��
#?��
��
��	#���!#��	#��	%!	���%�	,����	�
��0	
�
�	0	��14
�	�	�

��
	2���	���
	��	
��#0�	
�	
0���
�
#���
��1	#����
�����
 0���4
 �F	1
 �
 0������1
 
��C���1�
 �	�	�
 �	
 ��0	
 
���	#��	�	
 	���1
 ��
 ������
 	
 �1	��
��	#�
	
��
#?��
��
��	#���!#��	#��	%� 	�.� �	�	�	�

��
	2���	���
	��	
��
�	
��	��
0��
�G
	
:3
#�����14
1�
��
	=�
�	��
������	
�����1
��

���	
��
�	�	�

��
	2���	���
	��	
��
�	
��	��
0��
G
#�����14
�����
�����	���1
�

������	�

��
��
�	�	��
!	1�	

�#0���	�
�G
	
:3
#�����1�
���/�����	��
�@�1��
	�������
�10�
�=�
��
��������
��	�0����	��	����1�
����
�0��>��
��	�	#�����
2	1��
�������������
��
�1
��@�
�
	
�	1
	��14
0�
�1
�
	
�	1
	2�A	1�
H	A�
�#0	
��
1�2��
��1�
��1
2��?=�
�1
�
���#���1
�	���	��14
��
>��
��
!	
�
��
0����
��
���	�
0	�	
'	��A�
(�����	��
��
-�	�	1
D'(-E�
��
��
��	�����	��
	�
��
��	��	
��	
�2��	'	��	�����
��	�
��������&
�
	����	��	�
��������+
	�������	
�	���3����)	�
	��

���	�	�
	�
����	�
	�����
�
	��	��
��&
���
�4��	����
�	
�����	��	
��	�
�����)	 �
���
�4��
��	'	�
���
��
��	��	�������	��

�
��������
��	��	
��	�����������	�������
���&

�	���
�������	
�	�
����
��	��
	�
���
���)	���������	��1���
��	�	���
��3�����	�����
3��	����
	�����
����	�
	���	�	��
����	5���
�	�	�
���
&

�	
����	
��	�
�����	�	�3�����	��	��
�����+
	�
	
�1��)	�*��	'	�����	���
���	��	�1��&

�	 ���
1�����	 �
	 6���	 �������	 �
���	 ��
	 �������	 �
������	 ��	 ���
1����&

�	�
���
����
	��	��������	������	����������	��	�������	��
	
��	�
��������
��	��	
�
���������	�������
��&
���7%�	%!8!��	��	%� 	��8! � �	"	
��
��
��#	�����
��
0����
��
��
��
�	�>��
��
0�������	��
�
#	�����	
��
���	1�
��
0�1�
���
��
��1
	��	
0��
��
#���#�
��
73
1������1�
�������
	��	
!	1�	
�B�
��
�	

	0	
��	�
���
���	1��
/�����
��
���	1�
�
	����
���	���
73
1������1�
"����	
��
	��	
��
��
�>��0�
0�������	����
'	�����	
�����
	�#����
���	���
73
1������1�
,�	��
�
�1��
0��
���#�����
7
��
�1�
-��=���
��
���	1�
0	�	
����	�
1�
��������	
����
��#	
���
��1
���	1�1
��#0��14
1�
�14
1��
�	0	4
��
1����

���	��
�
��
!	��
0	�	
������	
��

�����
��
	
�0��
	������	���
��	#! �	��	�
��������+
	%%!9!�	!%	"����	:	:;<=	<>	??)	�!���!-�)	��%	������	��	��"��9!#�,�	��@�#�%,-�#!
��	%!	���8�� ��!�	�!�,%�#!	��	�$�%�)	!���#�,�	%! 	:A	$� &)	#��8����	�����B�����&)	�	!	����B�$�%��	:	:CCC
�D	DA&	�%	��%E"���	��%	�97���!���	� �	:	:=;?	A=	??)	�!���!-�)	�$�%�&

���	�
	����������	'���	���
��1	��1

���	��1�1
1�
!	
��#�1��	��
>��
��
0����
��4
	0��
C�����
1��I�
���1��	1
��1���

����14
1�
0��1�	
0	�	
��1
=���1
��
�#���	��1�
/�#�
��
	�#	
��	#�����
�
	0��
	
���
�1�C�
=���	
��
���1���

������
�
��
0���#�1
0�����
���	1
�	1

����
����1

����10��������14
��
���	#�1
���	
��10��1	2����	�
0��
�	F�1
������	��1
>��
0���	�
0����
��1�
0��

�	�>����

	�1	
	

��1�
���
�	
��
1�
�1�
�
	�#	
��	#������
��1
!	
�#�1
��10��1	2��1
��
�	

	���	�

��1�	���
���
0����
��4
0���
��
	1�#�#�1
��1
���1��1
���	
���	��1

��
1�
	0��
	
���
�
	�#	
��	#������
���#C14
�	�	����	#�1
��
0��
���	A�
��

��������
	
����
!	1�	
>��
��
0����
��
1�
1�1��	�
��
���1���

������
����
���

�
��������
��	��	���&
��������(	�1
��
��1�
��
��	
��
������
�	���	�

��
	

���
��

���	
��
0	�	
	0��
	
����1
=���	��1
0	�	
��

������
��
'�1>���	
2�	�
	
D��������	
����
��������	���������
��
��
��1

������1
��
&�#	��1
�
��#�����1�
��������(	0�������
��
�@��	
��1
�	���	��1
��
0�	��	1
>��

��1�������
�����������1
	��#����
��1
2������	�	2��1
�
�1�C�
��1�	��1
��
�,���
&����
��
������1�
#���
��
	

���
��
>��
��!�2�
��
��1	������
��
��1�1���
�	�
��
�����������
	
����
���	����
�1
��
	�����
	���6	��#���	����

��
������
�
�0��
	�

��
	���
����#��
�
0��1���
��
	��	
0	�	
0��#����
��
2���

�2��#�����
���
=���	A�
��
�	1
0�	��	1�
,�	���	�

�#�
#C@�#�
���1
	0��
	
����1
0��
��#0��	�	4
	�����	���

��
��1�
��
��	1
��
��=������1
���0�1
>��#�
�1
�
#���	���
0�C
��
	1
��
�	�	��
0��=�1�
���
=���	A�
��
��1
C�2���1�
��
	0��
	�

��
������1
#	����1
	
8
J#B!
0	�	
����	�
�����	
���
0����
���
��
��
�#����	
	0��
	�
��#0�	��
��
�	
#	F	�	
0	�	
����	�
	��	1
��#0��	���	1�
��
	0��
	�
1�
1�
0������
�����	1�
����������
	��	
�	��4�
��
�������
	��	
 	
 �	
#��	�
���
 
��������
 ���	�
 ��
�1	���4
 �����
 �����	
 �	
 
	����	�
��
0����
��
��>�����	
	�
�1�	�>��4
	���	���
=�����#����
�	
#��
�	
�
�����
�������

��
��
	��	
=	��	����
-	�	
�	1
#��
�	1
 ��
 �1�	�>��
 	������
 ��1
 ����1
 0����
��1
 1��������
 �	1
 ��1���

����1
 ��
 ?1��1�
���������
�������	%1

�#0	��2��

��
�	
#	����	
��
��1
0����
��1
=���1	���	���1
��
�1�

�#I�
�
=�������	���1
 =���	��1�
 %1
 ��
�#���	2��
 !	
��
 0���2	1
 0����	1
 ��
 
�#0	��2����	�
 0	�	
#��
�	1
 
��
 ����1
 0����
��1�
 *1�
 ��������(	 1���
 �
 ��
 ���	
���
 
��
 ����1
 ��1�
��
��	1�
�
���������
�������	��
#��
�	�

��
	��=��4

�!�@	���	

�

	0�	�4
��A	�
��
0������
#���#�
��
�10��	
��
�3
��	1
�����
	0��
	
����1�
��������������	��������(	�1	��
2	A�
�	1
��1���

����1
��
�	
���>���	
��
0����
�
=�����@�
��	��
���*���	��	����
���	F�/! G�	��������()	��
�����

	���
�	
0��
 �	
�	���	���	
���
0����
���
������	��	���
1�����	-	�	
0��1��	1
�
	��#	��14
��
0������
��
�������1�
	�
C��	
��	�	�	
�1
��
�
!��	1
��10�?1
��
�	
	0��
	
����
��������(		�1
#	�
	
����1��	�	
��
���1�	
��=��
���
�
/!���
����

������	��	�
��������
��	��	���

��������(	�1
��
��1�
��
��	
��
������
�	���	�

��
	

���
��

���	
��
0	�	
	0��
	
����1
=���	��1
0	�	
��

������
��
'�1>���	
2�	�
	
D��������	
����
��������	���������
�E
��
��1

������1
��
&�#	��1
�
��#�����1
��
	
�����
	�

�	���
��
��1���

����1
��
�1��

 	2��
	��
0���

!�H�!%	�%!��	�����#����

,����
�K�����@
H-
83
���G3
�������14

 �	�
�	

����������
�
L26���	����L��������������������������������������������������4G<
0B�
D�G
�B�E

�
����
0	�	=���
�LL����������������������������������������:3
<
0B�
D:33
�B�E
/�=��#��	���14

�1�0������������������������������������33
<
D�
�E
L
D:��674�6��#����6:4�6�
�	����6�6��
LL
/��������
5����
	�2���1
	��=C��
�1
1	���	��1
D/��6/��E���������������������4;�
<
0B�
D��;4�
�B�E
5����
	�2���1
	��#C��
�1��������������������������������������������������7437
<
0B�
D7347
�B�E

/*�&(".� -���� +.�(� .H�%,"�/(.�%�

-	�	
����
��
�	
0�2�	
���
��
�	
0�	�	4
	0��
	�
��������(	
�	���
	0	��
��
��1
0��#���1
 ��1�
��1
 D��
��
0�	J
��
���=	1
��
�1�	���E
�
��0����
�	
	0��
	
���

�	���
�	1
0�2�	
����1
1�
��
��#�����4
1��I�
#��������
�
#�����
��
0����

����
�0��
	�
 
 
	�	
 �
 ��	1
 	�����	���
 
��
��1�
��
��	1
 ��
 ��=������1
 ���0�1
>��#�
�1�
*����
�
��
#�A	#�����
��
�33
	
�333
�
��
	��	
B!	4
��0��������
���
��1	������
���

�������

-	�	
����
��
�	
0�2�	
���
��
�	
0�	�	4
	0��
	�
��������(	
�	���
	0	���
	�
��1
0��#���1
�A�#0�	��1
1�2��
2����1
��

��
�#�����
 ��� � ��	���
 ��
 2���

�2��#�����
�
1��I�
#��������
��
 �	
0�	�	�
-	�	
���I#���1
#	����1
	
G333
�B!	4
��10��	�
�	
��1�1
0��

��
����	
����

&�#	��1
��
������	����

'�1>���	
2�	�
	
��
��1
������	����1
D��������	
��
��
	����	����

7
�B!	

/����
�1
D��#�����1E

'�1>���	
2�	�
	
	�������1	
������	�������
��	��	����

G3


B�33
�
��
	��	
�

�
�B!	


